David M. Friedman (DF4278) Richard F. Casher KASOWITZ, BENSON, TORRES & FRIEDMAN LLP Counsel To The Official Committee Of Unsecured Creditors 1633 Broadway New York, New York 10019 (212) 506-1700

| UNITED STATES BANKRUPTCY COURT SOUTHERN DISTRICT OF NEW YORK | | Υ. |
|---|---|-------------------------|
| In re | : | X |
| SUNBEAM CORPORATION, | : | Chapter 11 |
| Debtor. | : | Case No. 01-40291 (AJG) |
| | : | X |

APPLICATION FOR THIRD MONTHLY ALLOWANCE OF COMPENSATION AND REIMBURSEMENT OF EXPENSES OF KASOWITZ, BENSON, TORRES & FRIEDMAN LLP, COUNSEL FOR THE OFFICIAL COMMITTEE OF UNSECURED CREDITORS

| Name of Applicant: | Kasowitz, Benson, Torres & Friedman LLP |
|---|--|
| Authorized to Provide Services to: | Official Committee of Unsecured Creditors |
| Date of Retention: | February 6, 2001 |
| Compensation Sought as Actual, Reasonable and Necessary: | \$85,889.00 (less 20% holdback amount) |
| Expense Reimbursement Sought as Actual, Reasonable & Necessary: | \$2,993.85 |
| Prior Fee Applications filed by Applicant: | Application for First Monthly Allowance was filed on |

May 9, 2001. Application for Second Monthly Allowance was also filed on May 9, 2001.

| | YEAR ADMITTED | RATE PER HOUR | NUMBER OF HOURS | TOTAL INVESTMENT |
|-----------------------------------|---------------------------------|------------------|--------------------|---------------------|
| David M. Friedman Partner | 1982 | \$595 | 35.3 | \$21,003.50 |
| Richard F. Casher Partner | Admitted in Connecticut 1976 | \$500 | 61.9 | \$30,950.00 |
| Adam L. Shiff Partner | 1993 | \$425 | 1.6 | \$680.00 |
| Andrew K. Glenn Associate | 1995 | \$315 | 32.1 | \$10,111.50 |
| Alan S. Lungen Associate | 1999 | \$275 | 21.9 | \$6,022.50 |
| Lisa G. Laukitis Associate | 2000 | \$185 | 63.6 | \$11,766.00 |
| Craig S. Hueneke Paralegal | N/A | \$105 | 29.2 | \$3,066.00 |
| Lana Z. Rafael Paralegal | N/A | \$95 | 11.1 | \$1,054.50 |
| Jerome Brown Paralegal | N/A | \$60 | 18 | \$1,080.00 |
| Fermin Figueroa Managing Clerk | N/A | \$125 | 1.0 | \$125.00 |
| Paul Keith Assistant Clerk | N/A | \$100 | .3 | \$30.00 |
| | | TOTALS: | 276 | \$85,889.00 |

SUMMARY BY PROFESSIONALS

EXPENSE SUMMARY

| Expense Category | <u>Total Expenses</u> |
|-----------------------|-----------------------|
| Witnesses | \$200.00 |
| Local Transportation | \$5.25 |
| Business Meals | \$116.86 |
| Document Reproduction | \$267.50 |
| Document Delivery | \$5.47 |
| Telephone | \$2,402.77 |
| TOTAL: | \$2993.85 |

| David M. Friedman (DF4278) |
|--|
| Richard F. Casher |
| KASOWITZ, BENSON, TORRES & FRIEDMAN LLP |
| Counsel To The Official Committee Of Unsecured Creditors |
| 1633 Broadway |
| New York, New York 10019 |
| (212) 506-1700 |
| |

| UNITED STATES BANKRUPTCY COURT | | |
|--------------------------------|---|-------------------------|
| SOUTHERN DISTRICT OF NEW YORK | | |
| | | X |
| In re | : | |
| | : | |
| SUNBEAM CORPORATION, | : | Chapter 11 |
| | : | Case No. 01-40291 (AJG) |
| Debtor. | : | |
| | : | |
| | | X |

STATE OF NEW YORK)) ss: COUNTY OF NEW YORK)

David M. Friedman, being duly sworn, deposes and says:

1. I am a member of the firm of Kasowitz, Benson, Torres & Friedman LLP ("KBT&F"),

counsel for the Official Committee of Unsecured Creditors herein.

2. I have read the foregoing Application for the Third Monthly Allowance of

Compensation and Reimbursement of Expenses of KBT&F, counsel for the Official Committee of

Unsecured Creditors (the "Application") and know the contents thereof. The same are true to the best

of my knowledge, except as to matters therein alleged to be upon information and belief, and as to those matters, I believe them to be true. I have personally observed the legal services rendered by KBT&F and am thoroughly familiar with all work performed on behalf of the Committee by the attorneys and paralegals in the firm.

3. The Application, to the best of my knowledge, complies with the mandatory guidelines set forth by this Court in the Order Pursuant to 11 U.S.C. §§ 105(a) and 331 Establishing Procedures for Monthly Compensation and Reimbursement of Expenses of Professionals (the "Order"). Furthermore, to the best of my knowledge, information and belief, the fees and disbursements sought within the Application fall within the guidelines set forth in the Order and are billed at rates and in accordance with practices customarily employed by KBT&F and generally accepted by KBT&F's clients.

4. All parties entitled to receive service of this Application, asset forth in the Order, have been served with such.

3. In accordance with Bankruptcy Rules 2016(a) and § 504 of the Bankruptcy Code, no agreement or understanding exists between the Applicant and any other person for the sharing of compensation to be received in connection with the within cases.

/s/ David M. Friedman

Sworn before me this 16th day of May, 2001. /s/ Lana Rafailova Notary Public Lana Rafailova Notary Public, State of New York No. 01RA6042271 Qualified in Kings County Commission Expires May 22, 2002

/s/ Lana Rafailova